R oot %du;a%

Biseck a2 n Ve Ymad

Thwe FBisechon werwa & "bttlhmi-. v XN an ynkecval ‘~—:"*l-,='{‘-».'-.sj

Oues wWwiowv W Sunchien W GAge S 5{%:\*

ok 5 SR §LXL) « O

o !

FRY=<

SURSY

4

The mdrant of e aadttval (XL RS s caveoneXrd  ond

mocamis ¥ne Sivrsy ke d velue y V-2 —RS¥m aXxe o ok &

"L'F e ){1.*‘ LY
Z
The Merd ‘3"-1? v g ¥5 ol calaXT %Li';.\.l;

-

o \ecexed A Q__%dﬂ..\ varroalhg {—Y“-,*".t.\:' o Lw;?_l}ﬂ.q\:‘_

' FUO) and SRR Mook ¥R SN San RSP ek

V2S5 va ¥ nkrucsal ‘L*'F-I ﬁd),
% i

& T @ad YR ) Meu @ 0RTZSER SGAS | walan PR ook e

oee Lo YA aakRcual (?\‘-.i?.)-

X
! TR FOR) = CHILD <o
SLA y X
L‘} =™ "'EL L L“,L! 'Fhf*\’
5
"kl..- ‘FU‘ 'é_ﬁ-;'{_

rJQ'lf"* I"‘f{‘l— Ea.‘f\‘ﬁn EQ%\F‘L"E; ok

pres Zakervel K Yﬂ.}‘fsq\l




UL S (X (Y)Y > 0o

A
S R) =3 B e ':.:-':i,‘iq\,
FiALY ){L_‘_ Ki!,
AL ¥g ! i
T T “- o - .
[ Hedd Lhercihsa V:xi'am‘: = i,
1 N
i/ T MRw Aaderval LR X))
SURY '

T, ARITERNANR T OMNRL QocalT Coan DL Osed  as T

DestS  Sor &'?.c.«éxn% whaa W oshep Y Vi arokens,

R PR
| Q’g | = ‘ - ¥g X 108
e
. Yo
|€#1 s Pae TVRC CRak TR LNVE oW aw’ﬁ-ﬁ’, ( withoot Ti%q?é‘

VhOSOCLLRESIWNE L shinaf s ol AR vook L.

ko Sign)

™Me TARrerads Srep wwea le | s less yhen 3enl

O RYT=PT :},\'Q\-}l TSy 'S"ra“;: I I ‘?.,.“ onn

-:_,.‘hp::‘nn% € aces =dn ¥ Yo

: 2.0
R = B0 ko 3 Ts

Q26T LLS  Maok ¥R TSI\ % AR Vesh RETPLICYN “ﬁ\“‘%)

v CooTRoX Xe ax NRBEN A ‘:}\.%h-ugr\‘-ﬁ-"\\‘ ‘Cﬂ(bq':‘%.“?:_




et

f <ok \ig S ghwawn

".F-L_'-'- O.T8 an

3 E)
FR) = K =2XK rio.9a¥ -4.95

A -

= Fﬁq-

S

Vo M= Bigechion Maamsd Yo cCoFhimoll WA

TosX and S¥s  ¥ax ;*r'i::m\-\uu'\sr whnen |'E-&i < e

Wecokwo 0, L *o Xz FCRe) FUNLY |t'ﬂ|1¢?="
J .75 ! o815 |-o.023 |-0.223 Saes
-3 o.$15 I O.9315 | 0©.0247 |-0.03 | (. bl
% ©.®75% 08373 |0906t S |0.00435|-0.023 .44
1 C.215 | 0.85625|0.890625|-0.008ck|-0.023 | 1.q15Y
S O TASL2S (09262 S [0.894843 |-0.00129]-0.00806 0. BLY




EGN 3420 Exam [ Name
Fa 2000 ' :

SHOW ALL WORK!

Problem 2 (25pts)

The function f(x)= 20T has a root located between 2 and 4. Fill in the table below for °
X

the first three iterations of the Bisection Method. Express all answers to four digits after

the decimal point.

Iteration X Xa X JCxr) Jxr) ea % er, %
! 2.0000 40000 |3 0000 | OM43HL | 00400 s 13070
2 3.0000| 1.2009 | 3. Scoo | 0.c410 |-0. 1002 [14.2857 |- j1 4585
3 3.0000 | 3.5000|3.2500 |0.047° |-0.0333 |-7.6923% |-3_ 4507
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